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2. (a) Explain the process of managerial planning. What

are its benefits ? (6)

(b) What do you mean by departmentation ?
How will you choose the right basis of

departmentation ? (5)

OR

(a) “Whatever a manager does, he does through
decision making”, Critically examine the statement.

(6)

(b) Define delegation. What are its elements ? Why

iIs it needed ? (5)
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3. (a) What do you mean by leadership ? Explain the
importance of leadership in modern business.

(6)

(b) Discuss the essentia] features of a good control

system. (5)
OR

(a) Critically compare and contrast the Maslow’s
Theory of need-hierarchy and Herzberg's two -

factor theory of motivation. (6)

(b) D_istinguish between formal and informal

communication. (5)
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Note

68

2

‘= The maximum marks printed on the question

paper are applicable for the students of the
regular colleges (Cat.-A). These marks will,
however, be scaled Up proportionately in
respect of the students of NCWEB/SOL at the
time of posting of awards for compilation of

results.,
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All qguestions are compulsory.
All parts of every question should

be answered together.
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(a)

“Business is an economic institution operating
In socio-political environment.” Give Comments.

(6)
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(b) Explain basic dynamics of employer-employee

relations. 5)
(57) AR @ = o Ty
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5.  Write explanatory notes on any two of the followings :

(i) Buying motives of consumers
(i) Owned funds Vs. Borrowed funds

(ili) Operative functions of human resource

management

(iv) Functional and dysfunctional aspects of conflict
(3.3x2=11)
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4. (a) Explain the meaning and significance of market

segmentation. (6)

(b) What do you understand by the term ‘change’ ?
Why do people resist change in an organizational

setting ? (5)
OR

(a) Discuss the meaning and scope of financial

management. (6)
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(b) Explain the concept of outsourcing. Discuss
any five services which can be outsourced.
(5)

OR

(a) Explain basic considerations in setting up a business

enterprise. (6)

(b) Explain the concept of “Service. What are
the reasons for growth of service sector in
India ? (5)
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[This question paper contains 8 printed pages.]
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Paper Code : A-101
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Paper I-BUSINESS ORGANIZATION AND
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Time : 3 Hours Maximum Marks : 55

(Write your Roll No. on the top immediately
on receipt of this question paper.)
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Note :— Answers may be written either in English or in Hindi;
but the same medium should be used throughout the

paper.
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(8) : 6053 ' (II ) This question paper contains 8 printed pages] \ l SU

(B) .Discuss the Vprnvisions of the Payment of Gratuity Act Your ROHNO. ©occienrnestimemssisnsasssines
relating to “Forfeiture’ of the amount of gratuity payable 6053

to an employee. B.Com./l F1

e ; o e AL 5w Paper Code : A-103
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Paper 111—BUSINESS AND INDUSTRIAL LAW
(Admission of 2006 onwards)
Time : 3 Hours Maximum Marks : 55

(Write your Roll No. on the top immediately on receipl of this question paper. )
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Note :— (i) Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
{ paper.

; (i) The maximum marks printed on the question paper

are applicable for the students of the regular colleges

(Category *A’). These marks will, however, be-scaled

up proportionately in respecl.of the students of

NCWEB at the time of posting of awards for com-

pilation of result.
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(A)

(6) 6053
Define the following terms as defined in the payment of
Wages Act .
(03] Wages
(7))  Wage Period
(7ii) Industrial and other establishment.

ot ST ffr # FeRe Frefte
() HEh

(i) FeIGH sEry

(in") sirenf wd e mﬂm 1

Who is eligible for bonus ? When is an employee

disqualified for bonus under the Payment of Bonus
Act ?

Y I HH A HE TR & 2 AE TAH
sfufrm & o7 S5 FHaR w9 IH9 W wA
® A B S § 2

)

(B)

*)

(B

(A)

(3) 6053

What are quasi-contracts ? Explain any nvo of them.

a4 FEs = ¥ 7 R Qoo e B w=
HifT |

What is a continuing guarantee ? When and how is it
revoked ?

6] T f5a Fed € 2 9% w9 ok 39 @fea
S ¥ ? '

What is a contract of agency ? What are the different
kinds of agents ?

TS F IEY w1 o P ¥ 2 R fee
YHFR ® B § ?

Or

(3reram)

What do you mean by indemnity and guarantee ? Also

state the difference between indemnity and guarantee.

TFRET SR wfayfa ofgey 9§ oMy F wHe § 2
wfren i wfafa d s off T #ifsm
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(B)

(A)

(3oft A) F famfdl & fw s § 4
a4ty A 51w NCwEB # faenfdi & g9y § 319
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All questions are compulsory.

v stEE §

Define the term “offer’. Explain the rules regarding a valid

offer.

‘gwma’ vse Ft ouftumen difst 1 4y ymmE
gt fafus frendl #t smen #ifom 1

“Insufficiency of consideration is immaterial; but an
agreement without consideration is void.” Explain this

statement.

‘gfrwe *1 sEiaa wewEE €, faeg afaeed
F YA A Tl TH FYA H AT HIHIC

or
(31

Distinguish between coercion and undue influence.

‘a0 wEm' da ‘sfad e’ # s wifew

®)

(A)

(7) 6053
Explain the following terms as defined in Payment of Bonus

Act :
() Accounting Year
(i)  Maximum Bonus

(iii)  Sub-agent.
A YA afufEe § aeRonfia Frefate
= ® W #wifg |
() e
(i) AT SN9
(i) FI-THE |

5

(319

What establishments and employees are covered under

the Payment of Gratuity Act ? Explain.

T e AfufEm w1 iy sl e
yfred 3R wHER o € 2 fadsmn wifsw
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(B)

(A)

(B)

(A)

£.4:) 6033
Define the term “agent” and ‘principal’. Discuss the general
rules of agency.
‘T’ T At wegi @ uftamn g | ST
& g e w1 e wifi
Define the term -sale’ and ‘agreement to sell’ and

distinguish between the two.

ok’ R ‘fawa & R H ot w0 g

T F AR W i |

Define partnership. What are the essential elements of

partnership ?
AR H1 it e | wEer # sfar g
w1 T HIfTw
0’.
(3rgam)

What is ‘Partnership deed” ? State its main contents.

"SR faera f6d #ed ¥ 2 s soorm w1 R
M gEer A # fae dfem

B)

(A)

B)

(A)

(5) 6053
Define the term “goods®. What are the different types of

goods ?

‘' e w afenfyg Fifew | A fRa g
A

Define the term ‘negotiable instruments’. What are its

essential characteristics ? )

T Yo' &1 uftrer dfe | o sfae
S

A FH-PAE B § 2

Distinguish between Promissory Note and Bill of

Exchange.
e = e fafa wn # sl wife
o;-.
(37eram)

Define the term *wages® under the Payment of Wages Act.

What deductions can be lawfully made from wages ?

WGl T sfufee sl ‘wed’ we #
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[This question paper contains 8 printed pages.]
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Paper Code : A-104
Paper IV — PRINCIPLES OF ECONOMICS
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(Write your Roll No. on the top immediately

on receipt of this question paper.)
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Note :~ Answers may be written either in English or in Hindi;

but the same medium should be used throughout the

paper.
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(b) From the market schedule for apples given below,
calculate price elasticity of demand if price falls

from Rs. 50 per kg. to Rs. 40 Per kg. (10,5)

Price Per kg. Quantity Demanded
60 20
50 25
40 32

(a)wﬁqﬁﬁaﬁﬁa%wﬁuﬁaﬁwm&r
FifoTg |
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60 20
50 25
40 32
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Ourput 0 1 2 3 4 5 6
(units)
Toxal 100 | 120 | 136 145 164 105" [~ 259
Cost (Rs.)

(a)wamhm@wmharaﬁm%wﬁ%
T T EHIAE |

(F) M Ry 0w i wEm & TVC, AFC AVC, ATC
vd MC # e Sifsw

0

Fd dRI

]

100

120

136

145

164

195

252

6. Compare the price and output levels in equilibrium

of 1 firm under perfect competition and monopoly ?

(15)
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Note
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:=The maximum marks printed on the question
paper are applicable for the students of the
regular colleges (Category ‘A’). These marks
will, however, be scaled up proportionately in
respect of the students of NCWEB/SOL at the
time of posting of awards for compilation of

result.
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Artempt five questions in all.

All guestions carry equal marks.
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(a) Discuss the main determinants of elasticity of

demand and supply ?

6054 7

7.

Explain beneficial externalities and negative
externalities. How do these affect the socially

desirable output levels ? (15)

TIMHE T TRAF agaad B e | aw e
wmwamﬁmrmr%a@ﬁusmwaé%ﬁﬂaﬁumﬁaamﬁ
t7

Write short notes on any Two of the following :

(a) Economic Rent
(b) Production Possibility Curve
(c) OPEC - A case study of cartel

(d) Prisoner’s dilemma {7.5,7.5)

ﬁmﬁﬁﬁfﬁi?ﬁﬁﬁéivt#%ﬂi%mﬁfﬁ%v:
(3r) snfdw s

(¥) IR wTEEr 9%
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2. (a) Explain the law of Diminishing Marginal
Utility.

(b) Discuss the concept of consumer’s surplus. How

is it related to utility ? (1.5.7.5)
(ar)azﬁg%ﬁmaavﬁrﬁm%ﬁmaﬁwa&ﬁwi

(a)am#ﬁﬂa%avaaﬁaﬁmwmaﬂaﬁwa%ﬁqamaﬁm
THFR IEfE & awafug 2 2

3. Why do government often intervene in agricultural
markets ? Outline the main type of intervention and

its likely effects ? (15)

!meemmmaﬁgﬁ&aﬁm”ﬁgﬁﬁwawﬁé%?3@@@?%
g@mqﬁmaﬁhﬂﬁmaﬁ%\n

4. (a) Draw and explain the shapes of Indifference Curve
in the following situations :—
(1) X and Y are perfect substitutes

(i) X and Y are perfect compliments

6054 5

wn

(iii) X is a vegetable and Y is a meat and the

consumer is a strict vegetarian.

(b) Can two indifference curve intersect each

other ? (12,3)

(a)ﬁ%ﬁw#mw%maﬁﬁrﬁm
® BN =R Hifw |

(i) X v@ Y qof wommesy &
(i) X o8 Y 7f o 2

(m)xqaamﬁ%;Ymrﬁﬁﬁimnmﬁmﬂmﬁwﬁw
EFE 2 |

(3) 7= 3 edeEr aw TE-TR W oueST @ g
g7

(a) Explain the firm’s equilibrium with the help of

isoquants and isocost line.

(b) Calculate TVC, AFC, AVC, ATC and MC from
the data given below :— (7:5,1.5)
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(b) Mill on liberty

w=aaa w e & faEw

(c) Saptang theory

. R

(d) Periyar on ldentity

yfma w IfaR & o

[This question paper contains 4 printed pages.]
2402 Your::Roll, Nouid 4.5

B.Com. /I F-I
Paper V - POLITICAL SCIENCE
(Political Theory and Thought) (A-118)
(Admissions of 2006 and onwards)
Time : 3 Hours Maximum Marks : 100

(Write your Roll No. on the top immediately
on receipt of this question paper.)
(30 yo7-77 @ fed & Fo Ry w0 AT

A W AT HFEAID [T 1)

Note — Answers may be written either in English or in Hindi;
but the same medium should be used throughout the

paper.
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Attempt any Five questions.

All questions carry equal marks.
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What is politics ? Distinguish between the Liberal and

the Marxist views on politics.

TSI &1 B 7 A9 @ JIRAE AR A gl
F W9 R FRw |

What do you mean by political theory ? Discuss the

nature and scope of political theory.

Tt fogrd & ama = e € 7 woete faera 9 vl
R T R i

Define Democracy. Discuss the main characteristics

of liberal democracy.

ArwHda HT IRANT AT | Ieward a7 e
% faew #ifae

Write a critical essay on Rawls’ theory of justice.

T & 91 & figd W vs seeaes ey ffae

What do you understand by Human Rights ?
Describe the civil, political and economic rights
included in the Universal Declaration of Human
Rights.

2402 3

e AUFR ¥ W W FEIA ¢ 7 WHE HUER &
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Examine John Locke’s theory of right to property.
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Discuss Rousseau’s views on Inequality.
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Write a brief essay on Mahatma Gandhi’s notion of

Swaraj.
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Evaluate Ambedkar’s view on the annihilation of

caste.

S - T W TR R QR w1 AeATRA I |

Write short notes on any two of the following :

Fafofas % @ fF 91w aferm fropoht fafan

(a) Aristotle on citizenship
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